land use type=[ 0,1, 3,3,1 , 3]

land owner=1[ -1, -1, 1,2, -1, 2]

land _use ratio=[ .3,.7 , .1,.2,.7 , 1l.]
cell boundaries = [0, 2, 5, 6]

runoff m HRU=1[1,2, 4,1,1 , O]

for i, land owner in enumerate(land _owners):
if land _owner =

runoff m HRU[|] +=1

runoff m_HRU
>>[1,2, 4,2,1 , 1]

runoff m_grid = []
for left, right in zip(cell boundaries|: -1], cell boundaries[1:]):
runoff m_grid.append(sum([
runoff * land_size
for runoff, land size in zip(runoff m_HRU[left:right], land use ratio[left:right])

1))

runoff_ m_grid
>>[1.7, 1.5, 1]

precipitation. m grid=[ 1, 3, 2]
precipitation_ m HRU = []
for left, right, preC|p|tat|on HRU m in zip(cell boundaries|: - 1], cell boundaries[1:], precipitation_m_grid):
number of HRUs in grid cell = right - left
for i in range(number_of HRUs in_grid_cell):
precipitation_m_HRU.append(precipitation HRU m)

precipitation. m HRU
>>[1,1, 3,3,3 , 2]




